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L.CM & H.C.F WORK SHEET

Find the LCM
5.8.10 smewis. 10,15
a. b0 b. 15

Find the LCM
5.8..0 smewrs. 14,42
a. 14 b. 42

Find the LCM
5.8.10 smewis. 30,40,60
a. 100 b. 80

Find the H.C.F of
15.0ur.eu e 40 & 16
a.4 b. 6

Find the H.C.F of
5.Qum.eu srewies 23 & 12
b.2




Find H.C.F of 396, 504, 636
15.0um.eu srewiss 396, 504, 636
a.12 b. 16

Find the GCD of 2a?2 + a,4a2-1
5.0um.eu smewis. 2a2 +a, 4a2 -1

a. 2a2 b. 4a2

Find the LCM of 8x*y?, 48x2y*
15.8.0 srewis. 8xty?, 48x2y4
a. 48x2y? b. 8x2y? C. 48x4y*

Find the GCD of
15.0um.eu &mewis 35x°y3z4, 49x2yz3, 14xy?z2
a. 7x2y?z? b. 7xyz C. 7xyz?

Find the GCD of
15.0um.6u smewiss 9a2b2c3, 15a3 b2 ¢4
a. 3abc b. 3a2b2c2 b. 3a3b3c3 d. 3a2b2c3

Find the LCM of 64x8, 240x°
5.8.10 smewiss 64x8, 240x6
a. 240xe b. 480x8 c. 240x8

Find the LCM of 16m, -12m?n?, 8n2
5.8.10 smewiss. 16m, -12m?n?, 8n?
a. 16m2n? b.4m?n2  c. 48m2n?

Find GCD of
B.0urm.eu smewias 2x2 -18and x2 -2x -3

a. (x-2) b. (x - 3) C. 2x2 d. 2x2-3

Find the greatest number consisting of 6 digits which is exactly divisible
by 24, 15, 36?

24, 15, 36 P eaewidenmed  BHUISN]  auGUGBD WSIEUNW  Qflevds
CTEIENEMIE  SHITENS.

a. 999920 b. 999820 c. 999720 d. 999620
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What is the smallest number that when divided by three numbers such as
35, 56 and 91 leaves remainder 7 in each case?

35,56 oBmIb 91 &Lev QGBS BCurgl 188H 7 MmEH HrHamigul 10BFFBIUI 6TewT
o1&1?

a. 3647 b. 3657 c. 3646 d. 3649

Which of the following pairs is co-prime?
LleTeU(HLD EeneiTH6IN60, 6Temal FTILIST 6TewIH6IT QLEHLD?
a. 51, 63 b. 52,91 c. 71,81 d. 81,99

The greatest 4 digit number which is exactly divisible by 8, 9 and 12 is
8, 9 oBmib 12 sl elewidenTed IGUBID WSIGUFW 4 &60dHd 6T60T 61636 !

a. 9999 b. 9996 c. 9696 d. 9936

The HCF of two numbers is 2 and their LCM is 154. If the difference
between the numbers is 8, then the sum is

&m eemisefler B.0uasT 2 LBBILD  SeuBpler  W.Hww 154, Sleuail(h
aTemIBEhHHemL G o eiten Coupium® 8 eTedlled, DBl Fn(HFH60

a. 26 b. 36 c. 46 d. 56

Which of the following cannot be the HCF of two numbers whose LCM is
1207

120-23  15.9lID-ouBb  OFBMeWIL.  6T6WIBEHHGL  LIGGToU(HID  61HEH  6T60I6mIT6IS)
SlaBBler 15.0U.85T-91% QHHdE Buleorgl?

a. 60 b. 40 c. 80 d. 30

Find the smallest number which is exactly divisible by all the numbers
from 1 to 9.

1 @Umbha 9  eudIUlelen  DIMIHFH  6IeIHeNTeID  uGUGBLD  WsFFnslul
GTCUTGNEITES  SHITEIISb.

a. 2500 b. 2520 c. 2570 d. 2580

The product of 2 two digit numbers is 300 and their HCF is 5. What are
the numbers?

Qyewi® Fflevds eemiseilear GUmbaBLeVET 300 wBDBID SeuBBler 15.6U.&T. 5
aT6a1I6L, 9IGIGIRIETTHET UWITene?

a. 30,10 b. 15, 20 c. 5,60 d. 15, 30

Wilson, Mathan and Guna can complete one round of a circular track in
10, 15 and 20 minutes respectively. If they start together at 7 a.m from the
starting point, at what time will they meet together again at the starting
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CHENNAI

alle0F&, FHeT WLBMID GHewim HHCWTT @h UL eugaleome gbHLTENSHU6T
R Fmedm  (WemmGuw 10, 15 wwmmd 20 MmO mseiled FMpY  (Wlg& a6t
SUTHeT  QHTLESL  LeTelulled &Tewew 7 WG QOIBTEF  SHBBSH
CHTLmIF eI, SlaufsHel Wewihld 61IGUTEH OHTLSS  UsTellulled aIBTSF
FhSHIILITTSH6IT.

a.7.30 am b. 8 am c. 8.30 am d.9am

Find the length of the longest rope that can be used to measure exactly the
ropes of length 1m, 20cm, 3m 60cm and 4m.

115 20 QF.18, 3 15 60 Q&F.15 BBID 4 15 Slemaysmensd OdmemiL  HulnIHerer
HeMmIGmeNE FFlMed SeNdHHL LWeTLUBD Sulipsler SIHSULF HeNlD 616160 ?

a. 60 cm b. 120 cm c. 40 cm d. 400 cm

The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one

of the numbers is 36, then find the other number.

Om erewidmemar 5.F.0 el  15.0L.ST-@l6T 6  IDLBIGTG)LD. 15.6u.sT 12
LOBBID @ 66wl 36 o660, LOBEMTT eTe0IeN6IDH HTEWIS.

a.12 b. 36 c.48 d. 24

Find the HCF and the LCM of the numbers 154, 198 and 286.
154, 198 BmID 286 SiHUl 6TewIHEHSHEG L0.0LLST OBXID 15.8.10. HTEwIH.

a. 11, 18000 b. 44, 18100 c.22,18018 d. 44, 18180

The traffic lights at three different road junctions change after every 40
seconds, 60 seconds and 72 seconds respectively. If they changed
simultaneously together at 8 a.m at the junctions, at what time will they
simultaneously change together again?

cpeiipl CuTeSGaTHH FhFHlILseale0 o 6o OBFlFs0 allend@GH6i e6elbeuTaTMID
weoBGw 40 alpmgsefsd, 60 alpTgseisd wB@D 72 &lBTgSHeTlsd
eMJHlOIBer.  SleIaleNdHGHDH6T DIMOHBHID HTemev 8 LS GF FhHILHeile0
QMBTS  e6eMMJHHen 6leNev, LeWIBHLD Dievau 6ICLTH QeIBTE 6M(HLD?

a. 8.03 a.m b. 8.04 a.m c.8.05 a.m d. 8.06 a.m

The LCM of two numbers is 210 and their HCF is 14. How many such

pairs are possible?
&m eemisefenr 15.4.0 210 oB@d B.CUST 14  eTeIDIeTOTEITR 618 FH6M60T
oTewTCamY &6 FTHHWIDTGLD?

a. 3 pairs b. 4 pairs c.1 pairs d. 2 pairs

What is the smallest 5 digit number that is exactly divisible by 72 and 108?
72 oBmId 108 oLFlul elemiHenTe0 FHWTS UGULSIIQU WISFFBIW 5 Devds
6T6U0T  6T60T60T?

a. 10,152 b. 10,162 c. 10,252 d. 10,250
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Find the smallest number that can be divided by 254 and 508 which leaves
the remainder 4.

254 1oBmIb 508 Elw  eTemIBeNTey  UGHHGWOUTH  BHwTE  4-25 SH(HD
WSFFNIUI  eTeTen6mTEH  HT6EWI5S.

a. 1016 b. 512 c. 532 d. 516

Find the ratio of the HCF and the LCM of the numbers 18 and 30.
18 1ommib 30 SEw  elewisefer 15.0U.&T wBBID 15.F.10-aler  aHHHmHd
BHIT6ITDH.

a.2:15 b.2:7 c.1:15 d.1:5
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